of

HA B FA - A o o efF FE (2018.7.9. 16:00 712

A A g oJE £
oH = HNEd bl H| 11
1 H = HFAERY5/160mg U otHto| 2E(F) SN
2 H = HFAERY5/80mg U ekHto| 2EH(F) "
3 H= L YrERy5/160 22| 13 (F)Z=H 2k "
4 M= LUrERd5/802 2| I3 (F)Z x| et "
5 M= 7 LHER160mg( LALZ EL HshrE () "
6 M= 7 LUERY80mg( LALZ EF) CishteEH( ) "
7 = THEREHAY sk EH () 7
8 M= A ZX|H5/1602 2| 1 (F)woE "
9 Hz= 2 ZX|X5/80U2| 7Y (F) g "
10 SES o2 =ZX|&10/160mg ZEO}H| 2K( ) "
11 M= o £ = X|5/160mg Z=ON| 2K(F) "
12 H = HE=X|M5/80mg E B ES] "
13 Hz= Fcked10/1602 2| 13 AUbtZ(F) "
14 H = Cl2ZX|M5/160 22| 13 O AH| 2K( ) "
15 H = Cl2ZX|M5/8022| 2 O| K| 2K( ) "
16 H= ClAt2E (LALZE (F)atotz "
17 M= CIAtZERY (WALZE) Sh=tto| 22X 2K( =) "
18 ES 3 A TEX| F5/160LU 2| 213 G EH 2H(F) "
19 Hz= 3 A IkX| 7FY5/80LE| 13 A EH 2K F) "
20 M= 2X|AF10/160LU2| 23 AR 2K(F) "
21 H = EX|AX5/160L2| 23 AR 2K(F) "
22 H= M| 2EIM5/160 22| 2124 (F)mcl|zt=2 ot "
23 Mz o Cl 28 &5/802 2| 22 (F)mc|zt=2|of "
24 S HI2C|EX10/160L 2| 23 EIEH 2K F) "
25 H = Ht2C|EM5/1602 2| 23 2| EH 2K F) "
26 H = Hl2C|EXH5/802 2| 2 2| EH 2K F) "
27 Hz= HE2AHE A 10/160mg (&) motz "
28 WES HE2 AL 5/80mg (&) motz "
29 Hz= S| EA10/1602 2 27 ZESH 2K F) "
30 M= S| EA5/160 22| 13 ZESH2HF) "




ot = Ny bl H| 1
31 M= 2| EA5/802 2| 23 ASH 2K F) 4
32 SES LA 2H 320 L2 T (LALZED SH K| 2H( ) "
33 M= grALEROLO| & 80mg( EEALZEH (F)elE=zvlo|2u}a} "
34 M= SRALEIA10/1602 2| 23 (F)zlo| EAdd Tpst "
35 H = LA A5/1602 2| 13 (F)sto| EA Y}t "
36 M= LHAHEA5/802 2| 23 (F)slo| EMH npst "
37 M= LA (A2 E (F)olo| 2 =x| 2k "
38 H = SHERRPE 160 2| I (WAL= E BAWAHIO| () "
39 Hz= SEIZPE80 Y E| 13 (WAL= EH FAWMAHO|2(F) "
40 H = =o|c|EX5/160mg I AF 2K F) "
41 ES =o|c|E&5/80ng A AH 2K(F) "
42 Hz= SO|AMERY160L 2| 27 (LALZE Xl ofof| AX| 2K ) "
43 H = Ho|AERY0 2| I (UALZEH Kl ofof AX| 2K ) "
44 M= BO|MEIEEAY X oof| AX| 2K( =) "
45 Hz= MZERY160L 2| 23 (LA EH (FIMEZ]| "
46 H = MEZX|H10/160L2| 13 (FIMEZ| "
47 = MEZX|H5/16022| 23 (F)MER| "
48 Mz M EZX|%5/80U2| 1Y (F)MEe| ”
49 ES otz 2EFY10/160mg () M A X| x| 2k "
50 M= otz 2 EFY5/160mg (%) M A X| H| 2k "
51 H = olo| ZX|Z10/1602 2| 12 Oto| F0{(F) "
52 H = olo| ZX|H5/16022| 124 oto| Fo{(F) "
53 H = ofo| ZX|H5/80L2| 134 oto| Fo{(F) "
54 H = ot} 2EF10/160mg FYtE(F) "
55 H = QerERE10/1602 2| 2 ZI kx| 2K( ) "
56 H = otetEX5/160 2l 21 SAH 2K F) "
57 H = oflo|HIAEFE10/160L 2] 124 Fa| A DEHF) "
58 H = oflo|HtAERY5/1602 2| 13 ECIEQSA TS "
59 Hz= of|o|HtAEY5/802 2| 13 Fe|AEHH IS F) "
60 M= of 0| ZX|&5/160 22| 124 () g A x| x| 2f "
61 M= AU AZEH10/160L2 2 (F)FHI2EX 2k "

ot = HNZd bl H| 1
62 M= AAZEHE/1602 2| 1 (F)FHIAEN 2t "
63 M= AAZEHE/8022| T (F)FHIAEN 2t "
64 M= oll Az 2| &10/160mg ShEFEIAX K F "
65 ES ol A 3 2 £ &5/160mg Sk FEIAH oK F "
66 ES ol A 3 2 £ &{5/80mg S FEIAH oK F "
67 WES AAZAK5/160UE| 2 BEEHES] "
68 H = oAAFTAK5/80UR| T Ol w2k ) "
69 H = ol AT EF10/160L 2] 22 HEIHE(F) "
70 H = ol AT EFY5/160 22| 13 HEIHE(F) "
71 = A ATERYE/8022| T3 AZIAE(F) (7
72 M= AAIH|EPE5/1602 2| 1 ol Aol AX| 2K "
73 M Z= ollm| =X|&5/160 22| 13 s aH(F) "
74 M z= FEEX|H10/16022| 224 Ml = A k() "
75 H = FREX|Y5/160LU2| 2 o S| AK| 2k ) "
76 H = FREEX|H5/80Uz2| 23 o S AK| 2k ) "
77 Hz= Mol ZX|&10/1602 2| 17 M tZ(F) "
78 H= Ho| ZX|H5/160LU 2| 134 HYotE(F) "
79 H = H|o| ZX|&5/802 2| 13 ML bE(F) "
80 H = FIAI2ERZ 2| AX80/12.522| 12 Atolm| 2K( =) "
81 H = DYUERY160L 2| 23 (UALZE st AR A(F) "
82 H = AUERHB0a| 2 (LALZE) SR A(F) "
83 H = ZH|ZX|H10/160L 2| 23 ILEH K F) "
84 H = 24| ZX|M5/1602 2| 2 ILEH K F) "
85 H = 24| ZX|H5/80LU2| 1Y DLEHK(F) "
86 H = F2IZX|F10/160L 2] 22 S2lmtop(F) "
87 H = Sl ZX|X5/1602 2| 13 S2lmop(F) "
88 NS SRIZEX|M5/802 2| 1 F2looh( =) "
89 Mz FEZX|F10/1602 2 13 SR A(F) "
90 M= SEEX|Y5/1602 2| 2 Sh=ERBA(F) "
91 Hz= SEEX|M5/8022| 2 SR A(F) "
92 Hz= AATH5/160LUE| 213 (F)ol=mtat "
93 WES AAH0|H10/16022| 1 YEH 2K F) "
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ol = Ny bl H| 1
94 M= AA=0|Y5/160LU2| 23 YESH 2HF) "
95 H = A A=0|H5/80LUE| 1Y YSH K F) 4
9% SES ol Qb X| &10/160 22| 1Y ENELES) 4
97 H = AU X|H5/160LU 2| 124 ol & k(=) ”
98 M= ol A ZX5/160mg MO = 2H(F) "
99 M z= A A ZX5/80mg MO = 2H(F) 7
100 S C|HPE10/1602 2| 22 L A2 |oH(F) "
101 H = C|2HPY5/16022| 12 L 2| oK F) "
102 H = Cl2woHPH5/8022| 224 L 2| o F) "
103 H = AEREX|E10/1602 2] 22 EHOIH| 2K( ) "
104 H = AEREX|F5/160L 2] 23 EHOIH| 2K( ) "
105 WES FHZXF10/1602 2| 212y (F) il g E;E;E%IIIEJ
106 M= ST A2 EFY80mg( LALZ EF) () S7HIo| 2H < "
107 H = FLAAK10/160mg (ZF)ob A 2f ”
108 H = FLAAK5/160mg (F) ot A 2k "
109 M= FHAAH5/80mg (F) ot AH| 2t "
110 M= CIREHEA Ol A M| k() "
111 M= ClZEM1602 2| DB (LALZE) (F)HER|2H 2 v
112 M= Cl2EPY80 L 2| T3 (LUA2E (F)HER|2H 2 y
13 S C| 2 ZX|&10/160mg (F)Chabr| o "
114 H = Cl A ZX|&5/160mg (F)CHebr| of "
15 H = C| A ZX|H5/80ng (F)Chabr| ok "
116 H = ClC|EE10/1602 2| 13 42| FH 2(F) "
17 H = ClC|EX5/160L 2| 13 42| TH 24(F) "
118 e Ol 22 45 160mg( &A= EH e FH 2H(F) "
119 M= Cl2=2 84 80mg( LALZE) 2| FH 2H(F) "
120 H| = CIQEHE AN Tl kR 2k(F) "
121 M= M Z7FZX[H10/1602 2] 13 (F)st= "
122 M= M 7t=X|H5/160L 2 12 (F)e= "
123 M= M7= X H5/80L 2| 17 (F)et= "
124 M= o C| 2EE10/1602 2| 27 (F)mclzt=2 ot v
125 M= Hi2tEF 1602 2| DB (LALZE) SHA| 2F(F) "
126 M= Hi2tEbe0 L 2| 13 (LAL=E SHEA| 2F( F) "

oH = HNZd bl H| 1
127 S[ES vt 2 AHE A 5/160mg (F) otz "
128 S[ES HIREFY 1602 2| 17 (ZALZEF) Shd X 2k F) "
129 M= HEQEFHBL 2| 13 (LALZE) shd &x| ok (F) "
130 M= HIQEFZ B AX80/12.522( R shdl &x| ok (F) "
131 S 2ALZ HHE 160mg( LA 2 EF) St FEI AT 2H(F) "
132 S A2 B 80mg( EHALZ EF) St FEI AT H(F) "
133 H AL 2 F160L 2| 2 (LALZE) SHE Al 2k( ) "
134 H = WAL 2402 2| T3 (LALZE sHaldl k() "
135 M = AR 2He0Le| 23 (LALZE) shaldl k() "
136 H = LAIR2ER AH160/12.52 2| 1 sHaldl k() "
137 H = YA 2 EfAKE0/12.52E 1 SHEI M 2F(F) "
138 H = LAY 2| 13 (LALZ E) FUM =X 2k(F) "
139 H = SHALERE 80 2| 13 (LAL2 EH) sh2dlo| 2 mto}(F) "
140 M= SEFZ R AXE0/12.522| 2™ SLH 2H(F) "
141 S[ES Bl A Z X E10/1602 2| 1Y TEHAEIAU(F) "
142 S[ES H A ZX|H5/160L 2| 13 ZEHAEIU(F) "
143 S[ES Hl A ZX|H5/802 2| 23 ZEHAEIA(F) "
144 M= AME EPE 80 2| 23 (LWALZ EF) otFA+E(F) "
145 M= A2 EZX|M5/16022| 13 o Al 2k( =) "
146 M= A2 ZX|H5/802 2| 2 o Al 2k( =) "
147 H = A et 160L 2| 13 (A2 E AldH| ok(F) "
148 H = el ebdgoa| 1 (LAL=E AU 2k F) "
149 H = et ZoAy AR 2(F) "
150 H= M2 EFE80H 2| I (LALRE (FIMER] "
151 M= MEEFEHAY (FIMER] "
152 M= otz 2 EHY5/80mg () M| x| 2k "
153 H = OFX| 2 HHZ 2 A%I80/12. 5mg (F)El Z=H| < "
154 H = 2C|AF2%10/160mg HUH 2H(F) "
155 M= AC|AL2 A 5/160mg AYUH 2k(F) "
156 e C| A= % 5/80mg AU 2H(F) "
157 H = ottt 2 EFY 5/160mg BHAE(F) "
158 S[ES etHt= B 5/80mg BEUHE(F) "
159 M= eterEXN5/802 2| 1Y SMH 2H(F) "
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oH = HNZd bl H| 1
193 NES EETINER:| =SHAE(F) "
194 M= Sto| ZX|H10/1602 2| 13 st=20oK(F) "
195 M= Sto| Z x| M5/16022| 13 sh=20K(F) "
196 M= sto| ZX|M5/802 2| 13 st=20K(F) "
197 M= Sl ZHIY (F)STHIo|2H 2F "
198 SES QAAUERAX160/12.522| 2 | (F)2AF2|obA 2t "
199 H = ATEEAKMB0/12.5Z2[ Y (F) 22 32| ofH| of v
20 | Mz | FHRUESIGLOLEIBEN | (5 0xz0 002t ,
201 H = Eﬁiﬂ%%ig’g?O%ﬂllﬂ(%*Ar (=) 2| ofH| 2 "
202 H= AAmAs5/80L2 1 (F)olEmot "
203 H = SALERE B{ AK80/12. 52 2| 1Y (&)=t ”
204 H = ZEEX|F10/160L 2| 23 (F)st=22 2Nt "
205 M= Ho|UHER{ AX80.0/12.52 2|1 YdEHH(F) "
206 H = | 2| =™ 160mg( WALZ EH TEH 2 F) "
207 S[ES 2hof| 2| =X 80mg( A2 E) FH 2H(F) "
208 H= M 2| Z10/160mg TEH 2 F) "
209 H = M 2| & 5/160mg TR 2H(F) "
210 M = M 2| X 5/80mg M 2H(F) "
21 M = AU X|H5/80LU 2| T o] 2 & 2(F) "
212 H = FAMER 80 B O (LALZE QAEIH 2K(F) y
213 H = ClElM g0 2| 13 (LAL=E LM Ak F) "
214 H = ol A C| &l M4 E10/160mg LM A K(F) 4
215 H= ol AL 5/160mg UM alek(F) "
216 H= A ALC|EIM4E5/80mg LM Ak F) "
217 H = FUEX|IM5/160L 2| T ShE R U 2H 2H(F) "
218 H= FUZX|HE5/802 2|2 st=RU 2 H(F) "
219 M = AEFEX|H5/80L 2| 27 holm| () "

oH = Ny A B3
160 M= Of L =X H10/1602 2| 13 (F) &2 "
161 M= of L = x| H5/1602 2| 13 (F) &2 v
162 M= Of L x| &5/80L2| 217 (F)E8=2Y v
163 M= ofl o ZX|¥5/802 2| 1 () eh= o x| x| 2f "
164 M= AAC|EHY5/1602L 2| 13 stz et x oH(F) "
165 H = A A 2H1710/160mg (F)MEIMHEIO|2 "
166 H| A A 2H1%5/160mg (F)ME[MEIO|2 "
167 H = A A 2 H17%5/80mg (F)MEIMHEIO|2 "
168 W[ES A AZEFE10/1602 2| 27y (F)dagzz|ot "
169 W(ES A AZERY5/160LU2] 1Y (F)dagzz|ot "
170 H= A ZEFY5/80L 2| I (F)aag=z|ot "
171 H = ol Al 2 X 10mg/160mg of A7{o|AH o] ZH(F) "
172 ES il A ujj 2 & 5mg/ 160mg of ~7{lo|AH o] ZH(F) "
173 H = ol A ol 2 X 5mg/ 80mg ol ~7{lo|H o] ZH(F) "
174 H = QA|H|EFY5/802 2| 17 7 o] & of| A | 2k( F) "
175 M= ollm| X H5/80L 2| 217 oetm () "
176 H = FREXHE10/160L 2| 2R (F)FHt "
177 M= FREXM5/160L 2| 1Y (F)FRH et y
178 M= FREXM5/80U2| 17 (F)FRHef "
179 Hz= O Bl A 9bAL2 EFE 80mg (F)E2hdol&l A "
180 | H=z X 0| E144545/160mg OIH= S0l 25 =K ,
181 CES H o &l 44 55/80mg Ol A ECIol 2 = "
182 H = 7 el X1410/160mg Aol x| oF(F) "
183 H = 7l X 5/160mg Aol x| oF(F) "
184 H| = 7l X 5/80mg AtolH| 2ok(F) "
185 H| = FHel Z X1 10/160mg Al H| ok(F) "
186 H| = F+C| Z X H5/160mg Al H| ok(F) "
187 M= 7| = X| & 5/80mg Al 2k(F) "
188 S 2 AX10/160mg (F)dtol & "
189 ES I A5/160mg (F)dtol & "
190 Hz= 4 AX5/80mg (F)dtol & v
191 H = FC|2EPY80/12.52 23 (F)HEz|2H < "
192 S AC|AL280/12.5mg (F) etz "
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